Surface Area of Prisms & Cylinders
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Surface Area of Prisms

17 cm

4 cm

10 cm
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Surface Area (S) of a Prism

Lateral S Formula: Total S Formula:
S =Ph S=Ph+ 2B
S=Surface Area S=Surface Area

P= Perimeter of Base P= Perimeter of Base
h=Height of Figure h=Height of Figure

B= Area of the Base



Surface Area (S) of a Prism

Lateral S Formula: 7 cm
S — Ph 4 cm
S —_ 28(17) SUbSt,-t ; 10 cm
_ 2 =
S =476 cm \ P=4+4+10+ 10

Total S Formula: o aBem

S = Ph+ 2B h=17cm
S =28(17) + 2(40)

B = bh
S =556 cm? Substit“te!/ B =10(4)

B = 40 cm?




Surface Area (S) of a Prism
Lateral S Formula:

S =Ph
S =18(12)
S =216 cm? |
utey,
Total S Formula: \
S = Ph+ 2B h=12cm

S =18(12) + 2(12)

1
Supy,, = =bh
S = 240 cm? Dty 2
o B=5®(6)

B = 12 cm?



Surface Area (S) of a Prism

Lateral S Formula:

§ = Ph —

Total S Formula:
S=Ph+ 2B Identify the base.




Surface Area (S) of a Prism

Lateral S Formula:

s P N
S = (5+5+4+4)7 .
o st (K
74

Total S Formula:
S =Ph+ 2B

S = (5+5+4+4)7 + 2(4'5)
S =166 units?



Surface Area (S) of a Prism

Lateral S Formula:
S =Ph

Total S Formula:
S=Ph+ 2B

Identify the base.
P=

B= A =§bh
h=



Surface Area (S) of a Prism

Lateral S Formula:
S = Ph
S=(8+8+8)12
S = 288 cm?

Total S Formula:

S =Ph+ 2B
1
S=(8+8+8)12+2(;-8-3)
S =312 cm?



Surface Area (S) of a Cylinder




Parts of a cylinder

A cylinder has 2 main parts: JL

*A rectangle

*A circle — actually 2

Together they make a cylinder. z 5




Surface Area (S) of a Cylinder

Lateral S Formula: .
S =2nrh Nt
$=2(3.14)(5)(10) ]
S = 314 cm? %

Yy, L
Total S Formula: » T =5cm
S = 2mrh + 2mr? h=10cm

S =2(3.14)(5)(10) + 2(3.14)(5)? T = 3.14
S =471 cm?



Surface Area (S) of a Cylinder

Lateral S Formula:
S =2nrh

Total S Formula:
S = 2ntrh + 27r?

¢ 7 cm :

&

J{=
r=

11.5 cm



Surface Area (S) of a Cylinder

Lateral S Formula:

S =2nrh

S =2(3.14)(3.5)(11.5)
S = 252.77 cm?

Total S Formula:

S = 21trh + 2mr?

S =2(3.14)(3.5)(11.5) + 2(3.14)(3.5)?
S = 329.7 cm?



